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QUESTION 1

Which three file types can be ingested by the IBM Watson Discovery service?
A. JSON

B. PPT

C.DOC

D. XLS

E. CSV

F. PDF

Correct Answer: ACF

QUESTION 2
Which statement best describes the unsupervised learning process when performing clustering?

A. Data points are compared iteratively and the distances between each other are used to determine whether they
belong in the same cluster or not.

B. A neural network is deployed in unsupervised mode to determine to which cluster a data point belongs.
C. A human supervisor decides which data points belong to which clusters.

D. Examples of data points and their associated cluster are fed into the system allowing it to learn and generalize for the
rest of the data set.

Correct Answer: A

QUESTION 3

A developer needs to classify a large number of images using IBM Watson Visual Recognition and submitting an image
at a time can take a long time.

How can the efficiency of the service be improved?

A. Specify only the classifiers you want results for in the classifier_ids parameter.

B. Specify a high minimum score threshold you want results for in the score parameter.
C. Adjust the image\\'s color resolution to be monochromatic (black and white).

D. Resize images to be no larger than 1024 pixels in either width or height.

Correct Answer: D
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QUESTION 4

Which IBM Watson Al service on IBM Cloud can help build a system that can understand the intent of incoming
questions and route them to an appropriate subject matter expert.

A. Discovery

B. Natural Language Classifier

C. Natural Language Understanding
D. Speech to Text

Correct Answer: C

QUESTION 5

An Al solution is implemented to detect what the user wants to do. The user mentions that wants to buy a ski jacket for
an upcoming vacation in Colorado.

What design pattern is appropriate for this use case?

A. Speech to Speech pattern designed with: Speech to Text, Relationship Extraction and Text to Speech
B. Audio Analysis pattern designed with: Speech to Text and Tone Analysis

C. Empathy Analysis pattern designed with: Personality Insights and Watson Assistant

D. Conversational pattern designed with: Watson Assistant service, Natural Language Understanding and Entity
Extraction

Correct Answer: D
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